2 BITEFERNMBMHIIEAPFER EEEME T 17:00, 22 T4 17:15

T & =
B R AR[ 2 a s o w2217 KR |wa[xem % =
T BRAR B STOl0 0o X
17K 5 |[o]|o|o|o|Oo] x BR|HB|[=| 1455 | x |[BETK
ololololox
B 7 SR TR E R 76 [O]|O|O|O|O|# B |# | =] 1525 | O | 17:15 B 1008 ([ L] s
2 | K|TTF T6 [0|0|O0|O0|O[®] |[=|[# & 1525 |0 | 1715 iﬁgfﬁms 1205 (Y2
T4 [OlO[O[= [ x|x x [ x [ x]12:05 | x =
B3 SR ATHRE R Ol|O|O|O[O|%
3| & T6 |O|O|O|O|O % B|#@®|=| 1525 | O [ 17:15
olololololo
NRTYER—ILERER1E
4|t o
NL—R—LERE S5
5| H [¢)
EMZER/EREREER 000|000
6| A T6 |[O]O|O|O|O]O B|#[Z]| 1525 | Ao | 1715
Ololololol#®
F2UO—KME P ERIZ EH 5 JO|OJO]O | %] x 14:50 KRR (1)
7K 4 |o|o]o]o|x[x B | x| x| 13:30 | x [EZET#&|FYFiE13:20-:30
4 |Oolo[o[Oo[*x[x 13:30 5BR F 14:00-14:50
0|00 O] O] x
8 | K 75 [O[O0[O0[O|O]x B| x| x| 1405 | x [BETFH
Ololol oo x
EEEs O]O|O]O]O[#&
9 | K T6 |[O|O[O|O|O[# B |=| 1525 | A | 17:15
ololololol#®
BTHEERE2EETVARERE OJO0]OJO|O[#
10| & 6 |O[O|O|O|#®|#* BR|#[=] 1555 | O [ 17:15
olololololo
ZEESNAH
1]t s @)
12| B o
O]O0|O0]0]0O]O
13| A 6 |oJoJo]o|o]oO B|#®[Z| 15655 [ O | 17:15
Ololololol#®
B RIS ENE/ T AMER O|O|O|O[O]|&
14K T6 |[O[O[O|O|O[# B[@R|&| 1525 | x [BRETHK
ololololol=
O]lO0|O]O]O|®
15| 7K 6 |O|O|O|O|O % B[#®|&| 1555 | x [BRETHK
ololololol®
EA - ERRS/BEAQD 6 |[OJO|O]O|O]|® B |8 | = | 15:55
16| K =R 6 |O[O[O|O|O[# B[R [=] 1555 | x [BETHR]SFELFZRYFESCIR
1 O| x| x| x| x| x X | x| X 9:40
SEA=FEBRER/EMBQ 25Xy )7E | 6 |[O|O[O]O|O|# B |#|&| 15:55
17 |5 =R 6 [OlO0[O|O|#[#] [B|[# [ &®]| 1555 | x [BETEPFEGRYLEACIR
1 O| x| x| x| x| x X | x| X 9:40
18| = X
19| B x
BERE 010]0O 0|0
20| A T6 |[O|O[O0[0[0O[O B|x[x]| 1500 | x [BETF#H
OlO0]O ol ®
PERTANSEFTEE 3 | ®|E|® X 11:55 BrE T
21| X [ ESEIE:: x [ x| x] 11:55 x| ERE TR KEBMLEE
6 |OJO[O0[O @[ B 15:30
FERTAM 3 |#| &= x 11:55 B T
22| K 3 |=E[Z£[& x [ x [ x[ 11:65 | x |B=THK
5 |O/0[O0[O0|O[x B 14:30
XEFRLEH
23| K| x
FERTAL EERES 0 x
24| & 5 |[#[®E|[#®|[O|O BR[| x| 1445 | x [BETKR
[oRKe] O x
25|t [©
26| B [®)
hEELELIEHDRE O|0|O0]O[O]O
27| A 6 |O|O[O[O|O]O B[f&[=] 1555 | O [ 17:15
DR AEAEANAER
EERRGHEE 2F) O|O|O|O[O]|i&
28| K = 6§ |[o|o/o|0]O|& E || & 1555 | 4 | 1715 |AEEERTT(-3/8)
olo|ololo®
EI=IDEF AV

3AMBSARN(BF) 3/6FFXFIREMR 3/7%%xX 3/9FEMEES 3/10£#ESE  3/15KEKR 3/248TH




